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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x10=10
ToTe SRS ETRe Ues o g
(a) The total number of members of SAARC is
SAARC-3 Fs AW FLAl
Q) 7 ()
(ii) 8 (¥)
(i) 9 (s)
(iv) 10 (s0)

Contd.



(b) Write the full form of TRIPS.
TRIPS-3 F=9isf Folth! fovail |

(c) Import of goods and services for re-
export to another country is called
entrepot trade. (State True / False)

O - (FitE Q[T Srmey oty o Af{eEar
M FEcE (12 e s aifter 3
R 2T (o% /) Gu% GEe F9)

(d) A banker’s acceptance fulfill financial
needs

@FR TIer FeR dremiTse! 559 T

(i) for medium term

TR I

(ii) for short term
2IPES AW

(iii) for long term

TP QIS

(e) State any one law regulating FDI inflows
in India.

Sleds e e [Riqce e v
Rz </ Sz Sredl 4 |
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(/. ' The UNCTAD was established in
UNCTAD %ifsre 2z

(i) 1967 (>5v1)
(i) 1965 (53%e)
(i) 1964 (s»u8)
(iv) 1976 (559Y)

(g9 What is the basic principle of most
favoured nation (MFN) ?

Most Favoured Nation (MFN)=S &g
sl e

(h) Import quota is considered' a tariff tool
of international trade. (Yes / No)
S (0] SEE es J<eiE G5l AG R I
Sie) T4 27 | (8% / 99%)

(i) India was one of the founder members
of the WTO. (State True /False)

e s 3iforey 7zl (WTO)S 2fovisie 7wy
(TIRE foeas @2 o7 | (@F/ TE% 93 791)
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() The World Bank started operation in
e @7 Fig wisE =¥
(i) June, 1944 (T, >588)

(i) May, 1946 (@, S58Y)
(i) June, 1946 (TH, S58Y)
(iv) None of the above

C9gF b8 T

2. Answer the following questions in about
S0 words : : 2x5=10

wote Tfie epTes Ues @obl Wi *WE feuqe
feTl 2

(a) Write a short note on import duty.

SR SFS S5iTe qBi 53 Bl |

(bp) Write fwo negative impact of

globalisation.

(oI RCE 15! et erei e |
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(c) Mention two distinct stages of product
lifeNcycleNtlicoryor 1nternat10na1
business.

SITE[OF AT TSI bF g9 751 (%
w9 o 41|

(d) What is greenfield investment ?

E@@imﬁﬁmﬁm%?

(e) Give any two examples of non-tariff
measures of international business.

meﬂﬁﬂﬁmﬁﬁm

gﬁ‘r@mﬁq o |
3. Answer any four question_s from the
following in about 150 words : Sx4=20

OO GRS ATl bifS5) oT Teq SeoBt *w
foegw oy ¢

(@) What are the features of international
business ?

SIEE(fes RS [@REPEE & [

(b) Write a short note on special economic
zones (SEZs)

e w1eftafes e (SEZ)3 Rae ¢t 53
e REEN
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(c) Write a note on ASEAN.
ASEAN-F €5F® @5 (GBIt 72l |

(d) List out the items included in current

account.
bfere fRpivie wwgle (xial [ive Rewsemz
G

(¢) What do you mean by ‘Most Favoured
Nation (MFN)’?

‘Most Favoured Nation’ JeTte & g e

(/) What are the objectives of World Bank ?
- W xR oz S &6

4. Answer any four questions from the
following in about 600 words : 10x4=40

OO GRS WS ez 519619 Oed ool

fouge foral ¢

(a) What do you mean by international
business environment? Explain

different forms of international business
environment. 3+7=10

wEifes TGRS ARG IEE BT ey

iy 4
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(b) What do you mean by Balance of
Trade ? Distinguish between Balance of
Payment and Balance of Trade.

3+7=10
qifersa ey ST 6 @i e AR faiet
S AfAeTR SRENE e Al |

(c) What is SAARC ? Explain the significant
role of SAARC in regional integration

and development. 2+8=10
SAARC f&? Sl Gay oS THae L9
Sl SN R < | |

(d) Discuss various sources of financing
in international business.

TPTRd KA 926118 Sl 5t |

(e) What is import quota? How does it
differ from ‘tariff’? i 2+8=10

ST (@5 {5 e 9= o[ W FEE YLD
31 79 “lifq 2

(/) Explain the role of WTO in promoting
international business.

e Aifey e CFae 4 sy ik
ol i 91
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(g) Discuss the role of FDI in India.

oIS @@ eerw Rfcmes ofim
A 4 |

(h) What are the objectives of World Bank ?
~ How far has it succeeded in fulfilling its
objectives ? Discuss.

P <9 SR 7 & 93 Sreiehe
[ RFeToIE T (=022 SIS 34 |
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